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EQUATIONS WITH DEFINITE INTEGRAL

TABLE–SELECTION GAME

Select one correct answer for each of the questions in the test and press the
Finish button at the end. The answers will be validated automatically.
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FINISHSCORE

Choose the correct value of the unknown positive real number m, so that the given equality holds.

1.
∫ m

−1

(
x2 − 2x5) dx = 2

3 132
2
32 132

2
32 132

2
32 132

2
32

2.
∫ m

2

1
x2 dx = 0.3 5463 5463 5463 5463

3.
∫ 2

m
(x − 1) dx = 1

2 112
3
22 112

3
22 112

3
22 112

3
22

4.
∫ 3

2

1

(
x2 −m

)
dx = − 5

24 2323
5
2 2323

5
2 2323

5
2 2323

5
2

5.
∫ 9

3

(
mx − 1

x2

)
dx = 970

9 3245 3245 3245 3245



Amazing! Incredible!Wow, what a wonderful job! Just be careful about
an alcohol party before an exam. You could

damage your brain cells.

Wait! Sheldon might get jealous!Good job, buddy!Wow! Do your friends by any chance call you
Wolfram or maybe Alpha?

You are so close!
You just made a misclick.

That was close! Next time you will
shine like a star.

It almost couldn’t have been better. Almost.A small step remains,
next time will be glorious!

Great. Next time you won’t make any mistakesYou understand this a bit,
but you still need to practice.

Wasn’t the worst, but next time eat a piece of
chocolate and it will definitely be better.

Hang in there, there is space for improvement.Making mistakes is better than faking perfection.Try again, practice makes perfect!Keep trying. It will be better next time.It wasn’t Enigma,
so where is the problem?

Pity, you might need to practice more.Are you keeping your energy for later?You made it,
but there’s still room for improvement.

Have you ever seen the way a chicken flies?
You solve math problems that way. . .

What a calamity!Most of your answers
were unfortunately like π — irrational.

You’ll be better next time.

There was a time
Einstein couldn’t count to 10 either.

Let’s pretend it never happened.

Correct answers:




